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1 

2. 

6767 + 67 # 68 y 5 q y TI 

(A) 1 

(C) 66 

(A) 

(C) 

(A) 

What is the remnainder if (6767 + 67) is divided by 68 ? 

(C) 

will be 

(A) 

1 

(C) 

66 

[ 68152 ] 

22 

24 

(B) 

(D) 

22 

24 

(D) 

(B) 63 

(B) 

63 

(D) 

67 

A man has some chickens and cows. The number of their legs is 

140 and the number of heads is 48. The number of chickens 

67 

(D) 

23 

26 

(B) 23 

A 

26 
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A 

3. 

4. 

250, 340, 430 3t 520 Ha asi HI 

(A) 

(C) 

(C) 

(A) 250 

(A) 

(C) 

250 

Which is the largest number in 250, 340, 430 and 520 ? 

(A) 

430 

(C) 

[ 68152 ] 

430 

21,000 

30,000 

(B) 

21,000 

(D) 

30,000 

(B) 

(D) 

(B) 

340 

(D) 

520 

In an election, 8% of the voters did not cast their votes. There were 

only two candidates in this election. The winning candidate got 

48% of the total votes and defeated the other candidate by 

1200 votes. How many total votes were cast in the election ? 

340 

520 

22,000 

32,000 

(B) 22,000 

(D) 32,000 
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5. 

6. 

(A) 

(C) 

(C) 

(A) 380 

380 

(C) 

420 

The sum of twO numbers is 910. If the larger number is reduced by 

4% and the smaller number is increased by 12%, then the 

numbers obtained will be the same. Then which of these numbers 
is the smaller number ? 

(A) 2,50,000 

(C) 

420 

[ 68152 ] 

2,00,000 

(A) 2,50,000 

(B) 

(D) 

2,00,000 

(B) 

(D) 

400 

(B) 

440 

400 

An orchard contains 20% coconut trees. Among these, 40% of the 
number of coconut trees are mango trees and 10% of the number 

of mango trees are apple trees. Accordingly, if the number of apple 
trees is 2000, then what is the total number of trees in that 

orchard? 

440 

2,30,000 

(D) 1,80,000 

(B) 2,30,000 

(D) 1,80,000 
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A 
7. 

8. 

yf x, y 40% $4 ? 

(A) 

(C) 

(A) 

(C) 

If x is 40% less than y, then 

3 
5 

(A) 

4 

(C) 

5 

[68152 ] 

5 

4 

(A) 12 

5 

(C) 10 

3+3 

positive integer n is 

+45 

4 +4 + 4 
35+35 

12 

10 

X 

(B) 

(D) 

y 

(B) 

(D) 

y- ? 

6 +65 +65 
25 +25 +25 

(B) 

(D) 

2 
5 

7 

(B) 

5 

(D) 

+65 

25+25 +25 

5 

7 
5 

6+65 +65 +65 

11 

11 

9 
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9. 

10. 

11. 

(A) 

(C) 

(A) 

The sum of 

(C) 

(A) 

(C) 

(C) 

(A) 6 

(A) 

(C) 

2 

6 

[ 68152 ] 

9 

9 

HGI 17999 +11l999 

7 

5 

1 
+ntttt: 42 567 

(B) 

(D) 

(B) 

(D) 

(B) 

(D) 

If 738A6A is divisible by 11, then the value of A is 

2500 

(B) 

3 

(D) 

2500 

1 

(B) 3 

(D) 1 

1 

1 

1 

3 

TSTMS/VI/I/601 

1 
is 

|A 

7/ 16 



12. 

13. 

The digit in the unit place of the number 171999 +1|1999 +71999 is 

(A) 

(C) 

a ri SH4I: 1,3,5,7 T Ir ? 

(A) 9763 

(C) 9766 

7 

5 

(A) 9763 

(A) 

(C) 9766 

(C) 

(A) 

(C) 

[68152 ] 

What is the largest four-digit number, which if divided by 
3,5,7,9 leaves the remainders as 1,3,5,7 respectively ? 

935 

912 

(B) 

935 

(D) 

912 

(B) 

(D) 

(D) 

(B) 

1 

3 

(B) 9764 

9764 

The number falling between 900 and 1000 such that when divided 

by 38 and 57, the remainder in each case is 23, is 

(B) 

9765 

(D) 

9765 

(D) 926 

962 

962 

926 
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14. 

(A) 

16. 

(C) 6 

(A) 

of the numbers will be 

(C) 

HN3Ì 61 341Ia 2:3 va 34I AUTH 4HrgAt 72 , at HA| GI 

The ratio of two numbers is 2:3 and their LCM is 72. Then the HCF 

(C) 

24 

(A) 6 

(A) 

(C) 

(A) 

24 

will be the value of c? 

(C) 

6 

[ 68152 1 

15. G (a+ b): (b+ c):. (c + a) = 6:7:83ir a + b + c= 14 , �t c *I 

(B) 

8 

(D) 

56:3 

49:3 

(B) 

(D) 

(B) 

If (a+ b): (b+ c): (c+ a) =6:7:8 and a+ b+c= 14, then what 

(D) 

3 

(B) 

12 

(B) 

3 

(D) 

12 

7 

14 

(D) 14 

7 

A 

55: 1 

56: 1 
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18. 

In a school the ratio of the numbers of boys and girls is 4 :3 and 
the ratio of the girls and the teachers is 8:1. Accordingly, what is 
the ratio between the numbers of all the students and the 
teachers ? 

(A) 

(C) 

(A) 

(A) 

(C) 12 

(C) 

(A) 

56: 3 

(C) 

49:3 

( 68152 ] 

4 fi 

4 m 

The perimeter of the upper surface of a rectangular table is 28 m 
and its area is 48 m², then what will be the length of the diagonal 
of that table ? 

12 m 

32000 

(B) 

32500 

(D) 

(D) 

(B) 10 t 

(B) 

55: 1 

(D) 

56: 1 

(B) 

12.5 f 

10 m 

12.5 m 

32200 

(D) 32850 
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19. 

20. 

The sum of three-digit numbers exactly divisible by 15 is 

(A) 32000 

(C) 

fhft ? 

(A) 

(C) 

(A) 

(C) 

(A) 

(C) 

32500 

(A) 

(C) 

100 

[ 68152 ] 

200 

100 

Rs. 250 is divided equally amnong a certain number of children. 

If there were 25 children more, each would have received 50 paise 

less. Then the number of children is 

200 

1 3{G 

3 3{G 

(B) 

1 billion 

(D) 

3 billion 

(B) 

(D) 

(B) 

(D) 

(B) 

32200 

(B) 

32850 

(D) 

150 

How many sides are there in a gigagon (two-dimensional polygon) ? 

220 

150 

220 

2 HG 

2 billion 

A 

None of these 
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A 

21. 

22. 

(A) 

(B) 

(C) 

(D) 

(A) 

(B) 

(C) 

Three circles touch each other externally. A triangle is formed when 
the centres of these circles are joined together. If the sides of the 
triangle formed are 6 cm, 8 cm and 9 cm, then the radii of the 
circles are 

(D) 

3.5 cm, 2.5 cm, 5.5 cm 

1.5 cm, 2.5 cm, 3.5 cm 

(C) 

2 cm, 3 cm, 4 cm 

[ 68152 ] 

3 cm, 4 cm, 6 cm 

3.5 cm, 2.5 cm, 5.5 cm 

1.5 cm, 2.5 cm, 3.5 cm 

2 cm, 3 cm, 4 cm 

3146H 17, 39, 69, 107, 153, ? RA E PITA s fAEffga i 

3 cm, 4 cm, 6 cm 

(A) 180 

170 

(B) 182 

(D) 207 
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23. 

Which of the following will be in the place of question mark in the 
following sequence ? 
17, 39, 69, 107, 153, ? 

(A) 180 

(C) 170 

(A) 

(C) 

3 x6 x 9x 12 x 15 a pteg ? 

(A) 

(C) 

(A) 

(C) 

35 x 5! 

3 x 5! 

35 x 5! 

34 x 5! 

[ 68152] 

What is the factorial form of 3 x6 x 9 x 12 x 15? 

5997 

5994 

(B) 

(A) 5997 

(D) 

7 

(C) 5994 

(B) 

(D) 

(B) 

(B) 

182 

(D) 

207 

7 

35 x 5! 

(D), 37 x5! 

(B) 

37 x 5! 

35 x 5 ! 

Which of the following numbers is the sum of 

999+999+999+999+9992+999 

5979 

2997 

5979 

(D) 2997 
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A 

25. 

(A) 

(C) 

342 

(C) 

2/3 

(A) 342 

[ 68152 ] 

Ifa -5+2/6 t, a a-

Va 

243 

(B) 

(D) 3/3 

=? 

242 

(B) 2,/2 

(D) 343 
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